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คลื่นกล (Mechanical wave)

คลื่นที่เคลื่อนที่ไปโดยการสั่นของตัวกลาง มีการส่งผ่านพลังงานไป
ในตัวกลาง
‣ ต้องมีการรบกวนระบบ (ใส่พลังงานเข้าไปในระบบ)
‣ ต้องอาศัยตัวกลาง แต่ตัวกลางไม่ได้เคลื่อนที่ จะสั่นไปมารอบจุด
สมดุล
‣ การเคลื่อนที่ของคลื่นจะส่งผ่านพลังงานจากบริเวณหนึ่ง ๆ ของ
ตัวกลางไปสู่บริเวณอื่น ๆ
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คลื่นตามขวาง (Transverse wave)

The direction of the displacement 
of any element at a point P on the 
string is perpendicular to the 
direction of propagation (red 
arrow).

P

P

P

อนุภาคตัวกลางเคลื่อนที่ (หรือสั่น) ใน
แนวตั้งฉากกับการเคลื่อนที่ของเคลื่อน 
ตัวอย่างเช่น
‣ คลื่นในเส้นเชือก
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คลื่นตามยาว (Longitudinal wave)

อนุภาคตัวกลางเคลื่อนที่ (หรือสั่น) ในแนวเดียว
กับการเคลื่อนที่ของเคลื่อน ตัวอย่างเช่น
‣ คลื่นเสียง
‣ คลื่นในสปริง

As the pulse passes by, the 
displacement of the coils is parallel to 
the direction of the propagation.

The hand moves forward 
and back once to create 
a longitudinal pulse.

vS

a

b

c

Before the piston moves, 
the gas is undisturbed.

The gas is compressed by 
the motion of the piston.

When the piston stops, the 
compressed pulse continues 
through the gas.
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คลื่นที่ผิว (Surface waves)

อนุภาคตัวกลางเคลื่อนที่ (หรือสั่น) ทั้ง 2 แนว
‣ คลื่นผิวน้ำ
‣ คลื่นแผ่นดินไหว

Prim
ary w

aves
Secondary w

aves

 16.1 Propagation of a Disturbance 485

 Sound waves, which we shall discuss in Chapter 17, are another example of lon-
gitudinal waves. The disturbance in a sound wave is a series of high-pressure and 
low-pressure regions that travel through air.
 Some waves in nature exhibit a combination of transverse and longitudinal 
displacements. Surface-water waves are a good example. When a water wave trav-
els on the surface of deep water, elements of water at the surface move in nearly 
circular paths as shown in Figure 16.4. The disturbance has both transverse and 
longitudinal components. The transverse displacements seen in Figure 16.4 rep-
resent the variations in vertical position of the water elements. The longitudinal 
displacements represent elements of water moving back and forth in a horizontal 
direction.
 The three-dimensional waves that travel out from a point under the Earth’s sur-
face at which an earthquake occurs are of both types, transverse and longitudinal. 
The longitudinal waves are the faster of the two, traveling at speeds in the range of 
7 to 8 km/s near the surface. They are called P waves, with “P” standing for primary, 
because they travel faster than the transverse waves and arrive first at a seismo-
graph (a device used to detect waves due to earthquakes). The slower transverse 
waves, called S waves, with “S” standing for secondary, travel through the Earth at 
4 to 5 km/s near the surface. By recording the time interval between the arrivals 
of these two types of waves at a seismograph, the distance from the seismograph to 
the point of origin of the waves can be determined. This distance is the radius of an 
imaginary sphere centered on the seismograph. The origin of the waves is located 
somewhere on that sphere. The imaginary spheres from three or more monitoring 
stations located far apart from one another intersect at one region of the Earth, 
and this region is where the earthquake occurred.
 Consider a pulse traveling to the right on a long string as shown in Figure 16.5. 
Figure 16.5a represents the shape and position of the pulse at time t 5 0. At this 
time, the shape of the pulse, whatever it may be, can be represented by some math-
ematical function that we will write as y(x, 0) 5 f(x). This function describes the 
transverse position y of the element of the string located at each value of x at time 
t 5 0. Because the speed of the pulse is v, the pulse has traveled to the right a 
distance vt at the time t (Fig. 16.5b). We assume the shape of the pulse does not 
change with time. Therefore, at time t, the shape of the pulse is the same as it was 
at time t 5 0 as in Figure 16.5a. Consequently, an element of the string at x at this 
time has the same y position as an element located at x 2 vt had at time t 5 0:

 y(x, t) 5 y(x 2 vt, 0)

 In general, then, we can represent the transverse position y for all positions and 
times, measured in a stationary frame with the origin at O, as

 y(x, t) 5 f(x 2 vt) (16.1)

Similarly, if the pulse travels to the left, the transverse positions of elements of the 
string are described by

 y(x, t) 5 f(x 1 vt) (16.2)

 The function y, sometimes called the wave function, depends on the two vari-
ables x and t. For this reason, it is often written y(x, t), which is read “y as a function 
of x and t.”
 It is important to understand the meaning of y. Consider an element of the 
string at point P in Figure 16.5, identified by a particular value of its x coordinate. 
As the pulse passes through P, the y coordinate of this element increases, reaches 
a maximum, and then decreases to zero. The wave function y(x, t) represents the 
y coordinate—the transverse position—of any element located at position x at any 
time t. Furthermore, if t is fixed (as, for example, in the case of taking a snapshot of 
the pulse), the wave function y(x), sometimes called the waveform, defines a curve 
representing the geometric shape of the pulse at that time.

Figure 16.4 The motion of 
water elements on the surface 
of deep water in which a wave 
is propagating is a combination 
of transverse and longitudinal 
displacements. 

The elements at the surface move 
in nearly circular paths. Each 
element is displaced both 
horizontally and vertically from its 
equilibrium position.

Trough

Velocity of
propagation

Crest

y

O

vt

x
O

y

x

P

P

vS

vS

At t ! 0,  the shape of the 
pulse is given by y ! f(x).

At some later time t, the shape 
of the pulse remains unchanged 
and the vertical position of an 
element of the medium at any 
point P is given by y ! f(x " vt).

b

a

Figure 16.5  A one-dimensional 
pulse traveling to the right on a 
string with a speed v.
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ฟังก์ชั่นคลื่น (Wave function)
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Similarly, if the pulse travels to the left, the transverse positions of elements of the 
string are described by

 y(x, t) 5 f(x 1 vt) (16.2)

 The function y, sometimes called the wave function, depends on the two vari-
ables x and t. For this reason, it is often written y(x, t), which is read “y as a function 
of x and t.”
 It is important to understand the meaning of y. Consider an element of the 
string at point P in Figure 16.5, identified by a particular value of its x coordinate. 
As the pulse passes through P, the y coordinate of this element increases, reaches 
a maximum, and then decreases to zero. The wave function y(x, t) represents the 
y coordinate—the transverse position—of any element located at position x at any 
time t. Furthermore, if t is fixed (as, for example, in the case of taking a snapshot of 
the pulse), the wave function y(x), sometimes called the waveform, defines a curve 
representing the geometric shape of the pulse at that time.
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water elements on the surface 
of deep water in which a wave 
is propagating is a combination 
of transverse and longitudinal 
displacements. 

The elements at the surface move 
in nearly circular paths. Each 
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horizontally and vertically from its 
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Figure 16.5  A one-dimensional 
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y(x1, t1) = f(x1 ± vt1)

y(x2, t2) = f(x2 ± vt2)

y(x1, t1) = y(x2, t2)

x1 ± vt1 = x2 ± vt2

t1 = 0

x1 = x2 ± vt2

พิจารณาความสูงของคลื่นที่เวลา t1 และ t2

เมื่อคลื่นเคลื่อนที่ไป รูปทรงของคลื่นยังเหมือนเดิม

หรือ

พิจารณาให้เวลาตอนเริ่มต้นเท่ากับศูนย์

x1 = x2 � vt

x1 = x2 + vt

เพิ่ม       ต้องเพิ่ม

เพิ่ม       ต้องลด

x2

x2

t

t

คลื่นไปทางขวา

คลื่นไปทางซ้าย

ให้มีค่าคงที่ (เริ่มต้น)
คงที่

มองเข้า
หาคลื่น
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ตัวอย่าง

คลื่นลูกหนึ่งเคลื่อนที่ไปทางขวาตามแนวแกน x ด้วยฟังก์ชั่นคลื่น

จงพิจารณาฟังก์ชั่นคลื่นที่เวลา t = 0,1 และ 2 วินาทีตามลำดับ โดย 
x และ y อยู่ในหน่วยเซนติเมตร

y(x, t) =
2

(x� 3.0t)2 + 1

t ! 0

y (x, 0)

3.0 cm/s
y (cm)

2.0
1.5
1.0
0.5

0 1 2 3 4 5 6
x (cm)

7 8

t ! 1.0 s

y (x, 1.0)

3.0 cm/s
y (cm)

2.0
1.5
1.0
0.5

0 1 2 3 4 5 6
x (cm)

7 8

t ! 2.0 s

y (x, 2.0)

3.0 cm/s
y (cm)

2.0
1.5
1.0
0.5

0 1 2 3 4 5 6
x (cm)

7 8
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สมการคลื่น (Wave equation)

Imagine undergoing an infinitesimal displacement outward from the right end of 
 This 

 components and can be represented by the 
-

. Because we evaluate this tangent at a particular instant of time, 
-
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พิจารณาคลื่นในเส้นเชือก จากกฎข้อ 2 ของนิวตัน(dm)ÿ = T (sin(✓ +�✓)� sin ✓)
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ให้     เป็นมวลต่อหน่วยความยาว

(dm)ÿ = T (sin(✓ +�✓)� sin ✓)

' T�✓

(dm) = µ(�x)
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ทำ Derivative เทียบ x

หาค่า y ขึ้นอยู่กับ x และเวลา t
จากรูปพิจารณา ณ เวลา
หนึ่ง ๆ เท่านั้น

พิจารณามุมเล็ก ๆ
เทอมนี้ = 1

(dm)ÿ = T (sin(✓ +�✓)� sin ✓)

' T�✓

(dm) = µ(�x)

µ(�x)ÿ = T�✓

tan(✓) =

@y

@x

1
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2
✓

d✓

dx

=

@

2
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สมการคลื่น (Wave equation)

Imagine undergoing an infinitesimal displacement outward from the right end of 
 This 
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ตัวอย่าง

จงแสดงว่าฟังก์ชั่นคลื่นต่อไปนี้เป็นคำตอบที่เป็นไปได้ของสมการคลื่น 
โดยที่ b เป็นค่าคงที่

(a) y(x, t) = ln[b(x� vt)]

(b) y(x, t) = e

b(x�vt)

(c) y(x, t) = x

2 + v

2
t

2



page 13

ตัวอย่าง

เชือกเส้นหนึ่งมีมวล 0.3 kg และยาว 6 m 
(ตามรูป) ยึดเชือกด้านหนึ่งไว้กับกำแพง
อีกด้านหนึ่งคล้องผ่านรอกและผูกไว้กับ
มวล 2.0 kg จงหาความเร็วของคลื่นบน
เชือกเส้นนี้

2.00 kg

T
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ตัวอย่าง

จากรูป เชือกสองเส้นผูกปมเชื่อมเข้าด้วยกัน แล้วผูกปลายที่เหลือเข้า
กับจุดตรึง กำหนดให้มวลต่อหน่วยความยาวของเชือกทั้งสองเส้นเป็น

กำหนดความยาวของเชือกเส้นที่หนึ่งเป็น L1 = 3.0 m และ ของเชือก
เส้นที่สอง L2 = 2.0 m และเชือกเส้นที่หนึ่งมีแรงตึงเท่ากับ 400 N ถ้า
มีการส่งคลื่นดลจากจุดตรึงที่ปลายเชือกทั้งสองออกมากพร้อมกัน ให้
มีทิศทางวิ่งเข้ามาหาปม คลื่นดลจากปลายใดจะถึงปมของเชือกก่อน
กัน

µ1 = 1.4⇥ 10�4Kg/m, µ2 = 2.8⇥ 10�4Kg/m

L1 L2
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การสะท้อนของคลื่นในเส้นเชือก (ปลายตรึง/ปิด)

@y

@x

= 0,
@y

@t

= 0

v

v

รวมแล้วได้
y = 0}

“ในการสะท้อนปลาย
ตรึง คลื่นสะท้อนมี
การกลับด้าน (จากบน
เป็นล่าง ตามรูป) แต่
รูปร่างเหมือนเดิม”

จุดตรึงสร้างคลื่น
สะท้อนขึ้นมา
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การสะท้อนของคลื่นในเส้นเชือก (ปลายอิสระ/เปิด)

@y

@x

= 0

v

v

พิเศษตรงบริเวณวงแหวนไร้มวล
วงแหวนได้ผลจากคลื่นที่เข้ามา 
ในขณะเดียวกันก็สร้างคลื่นที่มี 
Amplitude เดียวกันไปพร้อม ๆ 
กัน บริเวณนี้เราจะเห็นคลื่นมี 
Amplitude เป็น 2 เท่าของของ
เดิม

“ในการสะท้อนปลายอิสระ 
คลื่นสะท้อนจะวิ่งกลับด้าน
เดิม (ด้านบน ตามรูป) และรูป
ร่างเหมือนเดิม”
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การสะท้อนของคลื่นในเส้นเชือก (แบบจำลอง)

http://phet.colorado.edu/en/simulation/wave-on-a-string

http://phet.colorado.edu/en/simulation/wave-on-a-string
http://phet.colorado.edu/en/simulation/wave-on-a-string
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. It is important to differentiate between the 

In the early chapters of this book, we developed several analysis models based on 
three simplification models: the particle, the system, and the rigid object. With our 

 that 
will allow us to explore more analysis models for solving problems. An ideal particle 
has zero size. We can build physical objects with nonzero size as combinations of 
particles. Therefore, the particle can be considered a basic building block. An ideal 
wave has a single frequency and is infinitely long; that is, the wave exists throughout 

-
cies.) When this concept is explored in Section 18.8, we will find that ideal waves 

-
 This model is used in situations in 

y

x
A

l

l

The wavelength l of a wave is 
the distance between adjacent 
crests or adjacent troughs.

a

Figure 16.8a shows a snapshot of a traveling wave moving through a medium. 
Figure 16.8b shows a graph of the position of one element of the medium as a func-
tion of time. A point in Figure 16.8a at which the displacement of the element from 

 of the wave. The lowest point is 
wavelength 

 (Greek letter lambda). More generally, the wavelength is the minimum distance 

If you count the number of seconds between the arrivals of two adjacent crests 
 of the waves. In general, the 

period is the time interval required for two identical points of adjacent waves to 
pass by a point as shown in Figure 16.8b. The period of the wave is the same as the 

The same information is more often given by the inverse of the period, which is 
. In general, the frequency of a periodic wave is the number 

of crests (or troughs, or any other point on the wave) that pass a given point in a 
T

y

t
A

T

The period T of a wave is the 
time interval required for the 
element to complete one cycle 
of its oscillation and for the 
wave to travel one wavelength.

crest

trough

ตำแหน่งของกลุ่มของ
อนุภาคในเวลาหนึ่ง ๆ

ตำแหน่งของอนุภาคตัว
หนึ่งในเวลาต่าง ๆ

คลื่นรูปไซน์ (Sinusoidal wave)
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. It is important to differentiate between the 

In the early chapters of this book, we developed several analysis models based on 
three simplification models: the particle, the system, and the rigid object. With our 

 that 
will allow us to explore more analysis models for solving problems. An ideal particle 
has zero size. We can build physical objects with nonzero size as combinations of 
particles. Therefore, the particle can be considered a basic building block. An ideal 
wave has a single frequency and is infinitely long; that is, the wave exists throughout 

-
cies.) When this concept is explored in Section 18.8, we will find that ideal waves 

-
 This model is used in situations in 

y

x
A

l

l

The wavelength l of a wave is 
the distance between adjacent 
crests or adjacent troughs.

a

crest

trough

ตำแหน่งของกลุ่มของ
อนุภาคในเวลาหนึ่ง ๆ

คลื่นรูปไซน์ (Sinusoidal wave)

พิจารณาที่เวลา t = 0

สมการจะเป็น
จริงก็ต่อเมื่อ

เราสามารถเขียนสมการคลื่นที่เวลา t = 0

เราสามารถเขียนสมการคลื่นที่เวลา t ใด ๆ

y(x, 0) = A sin(ax)

y(0, 0) = A sin(a0) = 0

y(
�

2
, 0) = A sin(a

�

2
) = 0

a =
2⇡

�

y(x, 0) = A sin

✓
2⇡

�

x

◆

y(x, t) = A sin

✓
2⇡

�

(x± vt)

◆
x+ vt

x� vt

คลื่นไปทางซ้าย
คลื่นไปทางขวา
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คลื่นรูปไซน์ (Sinusoidal wave)

รูปแบบของสมการที่เราได้สามารถเป็นคำตอบของฟังก์ชั่นคลื่นได้

1

v

2

@

2
y

@

2
t

=
@

2
y

@

2
x

y(x, t) = A sin

✓
2⇡

�

(x± vt)

◆
เป็นหนึ่งใน
คำตอบได้

นิยาม
Angular wave number (wave number) บอกถึงจำนวน
ของคลื่นในความยาวหนึ่ง ๆ (ในที่นี้คือ      )

k ⌘ 2⇡

�

! ⌘ 2⇡

T
= 2⇡f

k ⌘ 2⇡

�

! ⌘ 2⇡

T
= 2⇡fเขียนฟังก์ชั่นคลื่นใหม่ได้ว่า y(x, t) = A sin(kx± !t)

v = f� =
!

k

kx± !t+ �

เขียนให้ทั่วไปมากขึ้น

phase constant

Angular frequency

Phase velocity
อัตราเร็วเฟส

phase

}
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คลื่นรูปไซน์ (Sinusoidal wave)

อัตราเร็วเฟส กับอัตราเร็วของอนุภาคในตัวกลางไม่เหมือนกัน

เราสามารถหาความเร็วของคลื่นที่เคลื่อนที่ไปในตัวกลางได้โดย
การพิจารณาการเคลื่อนที่ของตำแหน่งที่มีเฟสเท่ากัน

y

x

vt
vS

t ! 0 t

kx0 = kx� !t

v =
dx

dt

k

dx

dt

= !

v =
!

k

=
2⇡f

2⇡/�
= f�
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คลื่นรูปไซน์ (Sinusoidal wave)

t ! 0 t

y

x

vt
vS

“คลื่นเคลื่อนที่ไปทางขวา
แต่

ตัวกลางของคลื่นเคลื่อนที่
ขึ้นลงเป็น SHM”

y(x, t) = A sin(kx± !t)

@y

@t

= ±!A cos(kx± !t)

@

2
y

@

t
t

= ±!

2
A sin(kx± !t)

อัตราเร็วของการสั่นของอนุภาคในตัวกลาง

อัตราเร่งของการสั่นของอนุภาคในตัวกลาง
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ตัวอย่าง

มีฟังก์ชั่นคลื่นอยู่ 3 ฟังก์ชั่นคือ

(1) จงเรียงลำดับคลื่นตามอัตราเร็วเฟส จากมากไปน้อย
(2) จงเรียงลำดับอัตราเร็วสูงสุดของตัวกลาง จากมากไปน้อย

(a) y(x, t) = 2 sin(4x� 2t)

(b) y(x, t) = sin(3x� 4t)

(c) y(x, t) = 3 sin(3x� 3t)
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ตัวอย่าง

คลื่นในเส้นเชือกมีสมการการกระจัดของอนุภาคเส้นเชือกในหน่วย
เมตรเป็น

จงหา
(1) อำพน (Amplitude)
(2) ความยาวคลื่น
(3) คาบ
(4) อัตราเร็วเฟส
(5) อัตราเร็วสูงสุดของอนุภาคตัวกลางในเส้นเชือกนี้
(6) อัตราเร็วของอนุภาคตัวกลางที่ตำแหน่ง 6 m ณ เวลา 0.25 วินาที
(7) อัตราเร่งของอนุภาคตัวกลางที่ตำแหน่ง 6 m ณ เวลา 0.25 วินาที

y(x, t) = 15 sin
⇣
⇡

16
(2x� 64t)

⌘
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ตัวอย่าง

คลื่นรูปไซต์วิ่งไปในทิศ +x มีค่าอำพล (Amplitude) เท่ากับ 15 ซม. 
มีความยาวคลื่น 40 ซม. และมีความถี่ 8 เฮิร์ต ณ เวลา t=0 การกระ
จัดของอนุภาค ณ ตำแหน่ง x=0 คือ 15 ซม.ตามรูป จงหา
(1) เลขคลื่น (k)
(2) คาบ
(3) ความถี่เชิงมุม
(4) อัตราเร็วเฟส
(5) ค่าคงที่ของเฟส (phase constant)
(6) ฟังก์ชั่นคลื่นของคลื่นนี้

y (cm)

40.0 cm

15.0 cm
x (cm)(Example 16.2) A 
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การรวมกันของคลื่น (Superposition of waves)
y(x, t) = y1(x, t) + y2(x, t)

b

c

d

a

y2 y 1

y 1 y2

y 1 y2

y2y 1

!

!

When the pulses overlap, the 
wave function is the sum of 
the individual wave functions.

When the crests of the two 
pulses align, the amplitude is 
the sum of the individual 
amplitudes.

When the pulses no longer 
overlap, they have not been 
permanently affected by the 
interference.

y 1

y 2

y 2
y 1

y 1 y 2!

y 1 y 2!

When the pulses overlap, the 
wave function is the sum of 
the individual wave functions.

When the crests of the two 
pulses align, the amplitude is 
the difference between the 
individual amplitudes.

When the pulses no longer 
overlap, they have not been 
permanently affected by the 
interference.

b

c

d

a
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การรวมกันของคลื่น (Superposition of waves)

พิจารณาในกรณีที่คลื่น 2 ขบวนวิ่งไปทางขวาเหมือนกัน มีความถี่
เดียวกัน ความยาวคลื่นเท่ากัน และอำพล (Amplitude) เท่ากัน ต่าง
กันแค่เฟส

y1 = A sin(kx� !t), y2 = A sin(kx� !t+ �)

y = y1 + y2 = A sin(kx� !t) +A sin(kx� !t+ �)

พิจารณาการรวมกันของคลื่นสองขบวนนี้

ใช้สูตรทางตรีโกณมิติ
sin a+ sin b = 2 cos

✓
a� b

2

◆
sin

✓
a+ b

2

◆

เราจะได้ว่า
y = 2A cos

✓
�

2

◆
sin

✓
kx� wt+

�

2

◆
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การรวมกันของคลื่น (Superposition of waves)

y = 2A cos

✓
�

2

◆
sin

✓
kx� wt+

�

2

◆

คลื่นใหม่มีความถี่และความยาวคลื่นเท่าเดิม

อัมพล (Amplitude) ลัพธ์มีค่าขึ้นอยู่กับความต่างเฟส

‣ คลื่นจะเสริมกันมากที่สุดเมื่อ                          หรือ

‣ คลื่นจะหักล้างกันมากที่สุดเมื่อ                       หรือ

cos

✓
�

2

◆
= ±1

cos

✓
�

2

◆
= 0

� = 0, 2⇡, 4⇡, ...

� = ⇡, 3⇡, 5⇡, ...
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การรวมกันของคลื่น (Superposition of waves)
536 Chapter 18 Superposition and Standing Waves

Letting a 5 kx 2 vt and b 5 kx 2 vt 1 f, we find that the resultant wave function y 
reduces to

y 5 2A cos af

2
b sin akx 2 vt 1

f

2
b

This result has several important features. The resultant wave function y also is 
sinusoidal and has the same frequency and wavelength as the individual waves 
because the sine function incorporates the same values of k and v that appear in 
the original wave functions. The amplitude of the resultant wave is 2A cos (f/2), 
and its phase constant is f/2. If the phase constant f of the original wave equals 0,  
then cos (f/2) 5 cos 0 5 1 and the amplitude of the resultant wave is 2A, twice the 
amplitude of either individual wave. In this case, the crests of the two waves are at 
the same locations in space and the waves are said to be everywhere in phase and 
therefore interfere constructively. The individual waves y1 and y2 combine to form 
the red-brown curve y of amplitude 2A shown in Figure 18.3a. Because the indi-
vidual waves are in phase, they are indistinguishable in Figure 18.3a, where they 
appear as a single blue curve. In general, constructive interference occurs when 
cos (f/2) 5 61. That is true, for example, when f 5 0, 2p, 4p, . . . rad, that is, when 
f is an even multiple of p.
 When f is equal to p rad or to any odd multiple of p, then cos (f/2) 5 cos (p/2) 5 
0 and the crests of one wave occur at the same positions as the troughs of the sec-
ond wave (Fig. 18.3b). Therefore, as a consequence of destructive interference, the 
resultant wave has zero amplitude everywhere as shown by the straight red-brown 
line in Figure 18.3b. Finally, when the phase constant has an arbitrary value other 
than 0 or an integer multiple of p rad (Fig. 18.3c), the resultant wave has an ampli-
tude whose value is somewhere between 0 and 2A.
 In the more general case in which the waves have the same wavelength but dif-
ferent amplitudes, the results are similar with the following exceptions. In the in-
phase case, the amplitude of the resultant wave is not twice that of a single wave, 
but rather is the sum of the amplitudes of the two waves. When the waves are p rad 
out of phase, they do not completely cancel as in Figure 18.3b. The result is a wave 
whose amplitude is the difference in the amplitudes of the individual waves.

Interference of Sound Waves
One simple device for demonstrating interference of sound waves is illustrated in 
Figure 18.4. Sound from a loudspeaker S is sent into a tube at point P, where there is 

Resultant of two traveling X 
sinusoidal waves

y

x

x

x

y
y1 y2 y

y y y1 y2

! 60°

y

f

! 180°f

! 0°f

The individual waves are in phase 
and therefore indistinguishable.

Constructive interference: the 
amplitudes add.

The individual waves are 180° out 
of phase.

Destructive interference: the 
waves cancel.

This intermediate result is neither 
constructive nor destructive.

b

c

a

Figure 18.3 The superposition 
of two identical waves y1 and y2 
(blue and green, respectively) to 
yield a resultant wave (red-brown).

A sound wave from the speaker 
(S) propagates into the tube and 
splits into two parts at point P.

Path length r1

Path length r2

R

S

P

The two waves, which combine 
at the opposite side, are 
detected at the receiver (R).

Figure 18.4  An acoustical 
system for demonstrating interfer-
ence of sound waves. The upper 
path length r2 can be varied by 
sliding the upper section.

มีคลื่นสองขบวนคือสีเขียวและสีฟ้า คลื่นลัพท์คือสีเลือดหมู
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ตัวอย่าง

คลื่นรูปไซน์สองขบวนเหมือนกัน มีความยาวคลื่นเท่ากัน 3.00 m วิ่งไป
ในทิศทางเดียวกัน โดยมีอัตราเร็วเท่ากัน 2.00 m/s โดยคลื่นขบวนที่
สองเกิดขึ้นที่เดียวกับคลื่นขบวนแรก แต่เกิดขึ้นในภายหลัง อำพลลัพธ์
ของการรวมการรวมกันของคลื่นทั้งสองขบวนมีขนาดเท่ากับอำพลของ
คลื่นขบวนแรก (หรือขบวนที่สอง) จงหาช่วงเวลาที่เป็นไปได้ของการ
เกิดคลื่นขบวนที่สองภายหลังจากการเกิดขึ้นของคลื่นขบวนแรก
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คลื่นสถิต

พิจารณาในกรณีที่คลื่น 2 ขบวนวิ่งสวนทางกัน โดยคลื่นทั้งสองขบวนมี
ความถี่เดียวกัน ความยาวคลื่นเท่ากัน และอำพล (Amplitude) เท่ากัน

y1 = A sin(kx� !t), y2 = A sin(kx+ !t)

พิจารณาการรวมกันของคลื่นสองขบวนนี้

ถ้า                   จุดนั้นก็จะไม่เคลื่อนที่เลยไม่ว่าจะในเวลาใด ๆ
เราเรียกคลื่นลักษณะนี้ว่าคลื่นสถิต (Standing wave)

sin(kx) = 0

y = y1 + y2 = A sin(kx� !t) +A sin(kx+ !t)

y = 2A sin(kx) cos(!t)
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คลื่นนิ่ง

เงื่อนไขที่เราพิจารณาคือปลายทั้งสองเป็นปลายตรึง ไม่มีการเคลื่อนที่

x = 0

x = L

x = 0

x = L

sin(k · 0) = 0

sin(k · L) = 0

kL = n⇡;n = 1, 2, 3, 4, . . .

kn =
n⇡

L

sin(k · L) = 0
kn =

n⇡

L

�n =
2⇡

kn
=

2L

n

!n = knv =
n⇡v

L

fn =
nv

2L

kL = n⇡;n = 1, 2, . . .

v =
p
T/µ

คลื่นในเส้นเชือก
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คลื่นนิ่ง542 Chapter 18 Superposition and Standing Waves

mode is the longest-wavelength mode that is consistent with our boundary condi-
tions. The first normal mode occurs when the wavelength l1 is equal to twice the 
length of the string, or l1 5 2L. The section of a standing wave from one node to 
the next node is called a loop. In the first normal mode, the string is vibrating in 
one loop. In the second normal mode (see Fig. 18.10b), the string vibrates in two 
loops. When the left half of the string is moving upward, the right half is moving 
downward. In this case, the wavelength l2 is equal to the length of the string, as 
expressed by l2 5 L. The third normal mode (see Fig. 18.10c) corresponds to the 
case in which l3 5 2L/3, and the string vibrates in three loops. In general, the wave-
lengths of the various normal modes for a string of length L fixed at both ends are

 ln 5
2L
n  n 5 1, 2, 3, c (18.4)

where the index n refers to the nth normal mode of oscillation. These modes are 
possible. The actual modes that are excited on a string are discussed shortly.
 The natural frequencies associated with the modes of oscillation are obtained 
from the relationship f 5 v/l, where the wave speed v is the same for all frequen-
cies. Using Equation 18.4, we find that the natural frequencies fn of the normal 
modes are

 fn 5
v
ln

5 n 
v

2L
 n 5 1, 2, 3, c (18.5)

These natural frequencies are also called the quantized frequencies associated with the  
vibrating string fixed at both ends.
 Because v 5 !T/m (see Eq. 16.18) for waves on a string, where T is the tension 
in the string and m is its linear mass density, we can also express the natural fre-
quencies of a taut string as

 fn 5
n

2L
 ÅT

m
 n 5 1, 2, 3, c (18.6)

The lowest frequency f1, which corresponds to n 5 1, is called either the fundamen-
tal or the fundamental frequency and is given by

 f1 5
1

2L
 ÅT

m
 (18.7)

 The frequencies of the remaining normal modes are integer multiples of the 
fundamental frequency (Eq. 18.5). Frequencies of normal modes that exhibit such 
an integer- multiple relationship form a harmonic series, and the normal modes 
are called harmonics. The fundamental frequency f1 is the frequency of the first 
harmonic, the frequency f2 5 2f1 is that of the second harmonic, and the frequency 
fn 5 nf1 is that of the nth harmonic. Other oscillating systems, such as a drumhead, 
exhibit normal modes, but the frequencies are not related as integer multiples of 
a fundamental (see Section 18.6). Therefore, we do not use the term harmonic in 
association with those types of systems.

Wavelengths of X
normal modes

Natural frequencies of X
normal modes as functions 
of wave speed and length 

of string

Natural frequencies of X 
normal modes as functions 

of string tension and 
linear mass density

Fundamental frequency
of a taut string X

n ! 1

N
A

N

L ! – 1
1
2
l

f1

a

Fundamental, or first harmonic

N NA A N

n ! 2 L ! 2l

f2

b

Second harmonic

n  ! 3

N N N NA A A

L  ! – 3
3
2
l

f3

c

Third harmonic

Figure 18.10 The normal modes of vibration of the string in Figure 18.9 form a harmonic series. 
The string vibrates between the extremes shown.
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fundamental frequency (Eq. 18.5). Frequencies of normal modes that exhibit such 
an integer- multiple relationship form a harmonic series, and the normal modes 
are called harmonics. The fundamental frequency f1 is the frequency of the first 
harmonic, the frequency f2 5 2f1 is that of the second harmonic, and the frequency 
fn 5 nf1 is that of the nth harmonic. Other oscillating systems, such as a drumhead, 
exhibit normal modes, but the frequencies are not related as integer multiples of 
a fundamental (see Section 18.6). Therefore, we do not use the term harmonic in 
association with those types of systems.

Wavelengths of X
normal modes

Natural frequencies of X
normal modes as functions 
of wave speed and length 

of string

Natural frequencies of X 
normal modes as functions 

of string tension and 
linear mass density

Fundamental frequency
of a taut string X

n ! 1

N
A

N

L ! – 1
1
2
l

f1

a

Fundamental, or first harmonic

N NA A N

n ! 2 L ! 2l

f2

b

Second harmonic

n  ! 3

N N N NA A A

L  ! – 3
3
2
l

f3

c

Third harmonic

Figure 18.10 The normal modes of vibration of the string in Figure 18.9 form a harmonic series. 
The string vibrates between the extremes shown.
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ตัวอย่าง

คลื่นสถิตในเส้นเชือกมีสมการการกระจัดในหน่วยเมตรเป็น

จงหา
(1) อำพน (Amplitude)
(2) อัตราเร็วเฟส
(3) ระยะห่างจะหว่างจุดบัพ 2 บัพ
(4) อัตราเร็วของอนุภาคตัวกลางที่ตำแหน่ง 1.5 ซม. ณ เวลา 9/8 
วินาที

y(x, t) = 0.50 sin

⇣
⇡

3

x

⌘
cos(40⇡t)
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บีสต์ (Beat)

พิจารณากรณีที่คลื่น 2 ขบวนมาร่วมกัน โดยคลื่นทั้งสองขบวนมีความถี่
ต่างกันเล็กน้อย

y

y

t

tb

a

fbeat = |f1 � f2|
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ตัวอย่าง

สายเปียโนเหมือนกันสองเส้น มีความยาว 0.750 m ให้ความถี่เท่ากัน
พอดีที่ 440 Hz. ถ้าความตึงของสายเส้นที่หนึ่งเพิ่มขึ้น 1.0% เมื่อใช้
สายทั้งสองเส้นพร้อม ๆ กันจงหาความถี่บีสต์ระหว่างความถี่หลักมูล 
(fundamental frequency) ของสายเปียโนทั้งสอง
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พลังงานของคลื่นในเส้นเชือก
dx

T, µ, v2 =

s
T

µ
v

y(x, t) = A sin[k(x� vt)]

พิจารณาพลังงานจลน์ของก้อนมวล       ที่แกว่งขึ้นลงdm

dEk =
1

2
(dm)v2y

@y

@t

= �Akv cos[k(x� vt)]

dm = µdx

Ek =

1

2

µA

2
k

2
v

2

Z �

0
cos

2
k(x� vt) dx

=
�

2

2⇡

�s
T

µ

2⇡

�s
T

µ
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พลังงานของคลื่นในเส้นเชือก

พลังงานจลน์ของ 1 wavelength Ek =
A2⇡2T

�

=
1

4
µ!2A2�

ในกรณีนี้พลังงานศักย์ของคลื่น 1 wavelength จะมีค่าเท่ากับ
พลังงานจลน์ของคลื่น 1 wavelength

E
total

=
2A2⇡2T

�

=
1

2
µ!2A2�
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พลังงานของคลื่นในเส้นเชือก

คลื่นที่เคลื่อนที่ไป
Traveling wave

คลื่นสถิต
Standing wave

พิจารณาพลังงาน ณ ขณะหนึ่ง ๆ

E
total

=
2A2⇡2T

�

=
1

2
µ!2A2�

พิจารณาพลังงาน ณ ขณะหนึ่ง ๆ 
เลือกขณะที่คลื่นกำลังจะ
เคลื่อนที่กลับทิศ (บนสุดกลับลง
ล่าง หรือล่างสุดจะขึ้นบน) คลื่น
จะมีแต่พลังงานศักย์เท่านั้น

E
total

=
2A2⇡2T

�

=
1

2
µ!2A2�
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อัตราการส่งผ่านพลังงานของคลื่นในเส้นเชือก

กำลังเฉลี่ย หรืออัตราการส่งผ่านพลังงานเฉลี่ย (ทั้งพลังงานจลน์ และ
พลังงานศักย์)

P =
E

t
=

A2⇡2T

�

v

�

=
A2⇡2Tv

�2

=
1

2
µv!2A2
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ตัวอย่าง

ลวดเส้นหนึ่งมีมวลต่อหน่วยความยาว 525 g/m มีความตึง 45N ถ้าปล่อย
คลื่นที่มีความถี่ 120 Hz และมีอำพน 8.5 mm ให้เคลื่อนที่บนเส้นลวด 
คลื่นจะส่งผ่านพลังงานด้วยอัตราเท่าไหร่
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ตัวอย่าง

จงพิสูจน์กฎการอนุรักษ์พลังงานในกรณีที่คลื่นสองขบวนวิ่งสวนทางกัน 
แล้วเกิดเป็นคลื่นสถิต
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คลื่นเสียง

vS

a

b

c

Before the piston moves, 
the gas is undisturbed.

The gas is compressed by 
the motion of the piston.

When the piston stops, the 
compressed pulse continues 
through the gas.

l

การกระจัดสูง
ความดันต่ำ

การกระจัดต่ำ
ความดันสูง

s

x

x

!P

!Pmax

smax

b

a
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คลื่นเสียง

s

x

x

!P

!Pmax

smax

b

a

s(x, t) = s

max

cos(kx� !t)

�P = �P

max

sin(kx� !t)

s(x, t) = s

max

cos(kx� !t)

�P = �P

max

sin(kx� !t)
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Bulk Modulus

 is a positive number. 
) causes a 

Table 12.1 lists bulk moduli for some materials. If you look up such values in a 

Notice from Table 12.1 that both solids and liquids have a bulk modulus. No 
shear modulus and no Young’s modulus are given for liquids, however, because a 
liquid does not sustain a shearing stress or a tensile stress. If a shearing force or a 

Vi

Vi ! "V

Ftop
S

Fback
S

Fright
S

Fbottom
S

Ffront
S

Fleft
S

The cube undergoes a change in 
volume but no change in shape.

B ;
volume stress
volume strain

5 2
DF/A
DV/Vi

5 2
DP

DV/Vi
 

การเปลี่ยนแปลง
ของปริมาตร

การเปลี่ยนแปลง
ของความดัน
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คลื่นเสียง

Area A

Undisturbed gas

!x

s1

s2b

a

s(x, t) = s

max

cos(kx� !t)

�P = �P

max

sin(kx� !t)

�P = �B

�V

Vi

= �B

A�s

A�x

= �B

@s

@x

= Bs

max

k sin(kx� !t)
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อัตราเร็วของคลื่น

v =

s
elastic property

inertial property

s
T

µ
s

B

⇢

s
T

µ
s

B

⇢

P
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ความเข้มเสียงและเดซิเบล (Intensity & Decibel) 

ความเข้มเสียงนิยามโดย

I =
P

A

อัตราการส่งผ่านพลังงาน

พื้นที่ซึ่งเสียงตกกระทบ

I =

1

2

⇢v!2s2
max

ระดับเสียงนิยามโดย

� = 10 log

I

I0

I0 = 1.0⇥ 10

�12
W/m

2
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ตัวอย่าง

เครื่องจักรสองเครื่องวางห่างจากคนทำงานเป็นระยะทางเท่ากัน โดยแต่ละ
เครื่องให้ความเข้มเสียงบริเวณที่คนทำงานเท่ากับ 2.0 x 10-7 W/m2

(1) จงหาระดับเสียงที่คนทำงานจะได้ยินเมื่อเครื่องจักรเครื่องที่หนึ่งทำงาน

(2) จงหาระดับเสียงที่คนทำงานจะได้ยินเมื่อเครื่องจักรทั้งสองเครื่อง
ทำงาน
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คลื่นนิ่งภายในท่อปลายเปิดและปลายปิด

ปลายเปิดสองด้าน ปลายเปิดหนึ่งด้าน ปิดหนึ่งด้าน

ความสัมพันธ์ระหว่างความยาวคลื่นกับความยาวท่อเป็นอย่างไร
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ดอปเปลอร์ (Doppler)

เมื่อต้นกำเนิดเสียงและผู้สังเกตมีการเคลื่อนที่สัมพัทธ์กัน ผู้สังเกตจะได้รับ
คลื่นที่มีความถี่ต่างไปจากการการที่ต้นกำเนิดเสียงและผู้สังเกตอยู่นิ่ง

อัตราเร็วของเสียงในตัวกลาง (อากาศในกรณีนี้)

f 0 = f

✓
v ± v0
v ⌥ vs

◆
+ v0,�vs

� v0,+vs

ต้นกำเนิดเสียงและผู้สังเกตเคลื่อนที่เข้าหากัน

ต้นกำเนิดเสียงและผู้สังเกตเคลื่อนที่ออกจากกัน
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ตัวอย่าง

นักประดาน้ำกลุ่ม ก  ว่ายน้ำไปด้วยความเร็ว 8 m/s และปล่อยคลื่นโซน่าร์ 
(SONAR, SOund Navigation And Ranging) ด้วยความถี่ 1400 Hz 
ให้ความเร็วในการเคลื่อนที่ของเสียงใต้น้ำเป็น 1533 Hz จงหาว่า

(1) เมื่อมีกลุ่มนักประดาน้ำ ข ว่ายน้ำเข้าหากลุ่ม ก ด้วยความเร็ว 9 m/s 
ความถี่ของคลื่นโซน่าร์ที่กลุ่ม ข จะรับได้มีค่าเท่าใด

(2) หากทั้งสองกลุ่มคลาดกัน และว่ายออกห่างจากกัน ความถี่ของคลื่น  
โซน่าร์ที่กลุ่ม ข จะรับได้มีค่าเท่าใด


